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ADAPTED FROM TRIG 1 and TRIG 2 PRACTICE EXAMS: http://www.bmlc.ca/Math12/
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4. Use the identity cot® x=csc® x—1

cot xtescx—4
(ese? x=1) +osex—4

cse?xesex=5

‘The answer is A.
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12. The only graph which has no effect on the y-intercept is y, = cos 3¢, since the

horizontal stretch will not transform points on the y-axis.
The answer is B.
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sin A

6. Start with the relationship tan 4=
cosA

sinA
cos A
tan Acos A =sin 4

tan A

sin4

cos A
tan 4

Now plug in the corresponding expressions sin 4="" and tan 4=
n

sin4
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1. Analyze each of the possible answers to see which one gives back sin 75"

Look at sin 45" cos 30° + cos 45" sin 30°
Comparing this expression with the identity sin (A +B)=sin Acos B-+cos Asin B,
it can be seen that the value of A is 45°, and B is 30°

‘Therefore, sin(4+B) =sin(45° +30°) =sin 75"
The answer is C.
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5. At the y-intercept, 6= 0.

1(6)= —3cos(k6+%)—b

x
—3m(k(0)+;)—h

el





image9.png
0°<#<90° to solve for the angle A.

o First use the information from cos 4=

Based on the unit circle, A =30
o Thenuse B=60"+4 to  Finally, evaluate secB
determine the value of B.
B=60"+4
=60°+30"
=90"
)
=undefined

e answer is D.
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9. First determine the quadrant the
angle is found in.

Based on the diagrams to the right,
the angle is in Quadrant IV.

Now draw in the triangle and
use Pythagoras to solve for
the hypotenuse.

cotd <0 csed <0

From the triangle, sin.

wlL

‘The answer is A.
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31. First factor the 3 out of the brackets: g(6) =sin[36~7]= sin}(ﬁ—%]

‘This tells you there is a horizontal stretch by % then a phase shift % units right.

The answer is D.
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11. The correct answer 1s C, since the new graph has a phase shift of ¢ units to the nght.
This will move all the §- intercepts by the same amount. (Remember: In a trig graph, the
x-intercepts are called 6~ intercepts)

The answer is C.
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20. Draw in the asymptotes as shown in
the diayzm to the right. The first asymptote

occurs al , and every other asymptote

isa mulnple of 7 units away.

The answer is D.
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6. By inspection, the midline is at -7,
and the amplitude is 4.

To determine the correct answer, it is
necessary to check each of the possible
answers to see which one actually
‘matches the graph provided.

‘The only equation which is a
correct match is
/(0)=—4sin(0-30")-7

‘The answer is A.
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cos(x+y) cosxcosy-sinxsiny
cosy cosy
cos45° cos y—sin45”siny

V2

2

(1-tany) ‘The answer is B.
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Ifit takes 1 second for the tire to go around twice, that means the time for one
spin s 0.5 seconds. The period is 0.5 s

* [ Parameter | Value
a 42
b 12.57
< 0
d 42

(1) ==425in12.57 +42
Contact between the wheel and ground occurs when the height, h(r). is zero.
Solve the equation: 0=—42sin12.57¢+42 by graphing to obtain the -intercepts.

The first contact occurs at 0.125 seconds, and every future contact occurs one period
later. The general formula is: Time of contact = 0.125 + 0.5n

‘The fifth contact will be 0.125 +0.5(4) =2.125's

© a-value: 39 instead of 42
eriod: Still 0.5 seconds
b-value: No change, since no change in period
c-value: No change
d-value: Midline i at 39 instead of 42.
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a-value

T
1
b-value 2
Phase Shift 0
Vertical Displacement 0
Period an
Domain x# 207
Range y<-Ly>1
-intercepts None
J-intercepts None
“Asymptotes o on

(general equation)
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(sinx+cosx)’

sin® x+2sin xcosx +cos’ x

=sin® x+cos® x+2sin xcosx

1+2sinxcosx
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1+cos2x
Tein2x
1+(2c08* x=1)
Tasinxcosx
_2eos'x
sinxcosx
cosx

Sinx
=cotx
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NR #3)First determine the quadrant
the angle can be found in.

cosd < 0 tand >0

N/
9

‘The answer is 0.28

‘Then use Pythagoras to
complete the triangle.
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NR#1  Substitute 2.1 radians into the right side —————. (You will get the same
x

answer if you use the left side, but since the right side is already in terms of sinx and
cosx, it’s easier to use.)

cos” 2.1+sin

21esin2 1) 5o
st 2.1

*Make sure you have your calculator in radian mode.
**Type in cos” 2.1 as (cos(2.1))"

‘The answer is 1.50
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1. Draw the following graphs
in your graphing calculator:

S(0)=y,=sin0
2(6)=y,=sin20-2

The transformations applied to the original
‘graph are a horizontal stretch by a

factor of % and a shift down by two units.

As can be seen on the graph, the new range for g(6) is ~3< y<-1.
‘The answer is A.




image2.png
_methegtphofy:ms(ﬂ+%)

s graph is identical to the graph
f sin@, reflected in the x-axis.

‘he answer is B.
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3. Look at the graph on the right. Notice
that the midline has been shifted three units
down, and the amplitude is .

That means:

Minimum
Maximum

The range of the graph is
-3-k<f(0)<-3+k

‘The answer is C.





